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15 |14 | 3 1,040 | 7 56 6 1 -
14 |25 |1 60 | 1
14 |14 | 3 1,459 | 10
4,374 18 |14 | 2 4| 1
7 135 | 2 406
2,428
6 | 43 | 1 32
7 {3 |1 1| 1 4,195
7-2 | 35 | 2 31| 3 4,195
9 | 32 | 2 510 | 4 4,130
53 ta |2 169 | 2
4,169 1023 |1 110 56 6 1 -
g a3 | 2 632
1,701
2 |26 | 1 | 2 56 6 1 -
7 a0 | 2 48| a4 4,309
9 [33 | 2 385 | 2 5,362
2|2 | 2 81| 1 56 6 1 -
8,784 13 |25 | 1 8o | 1
g |34 | 2 604
5,960
4 |3 |1 o] 1
6 |33 | 1 0| 1
6 | 32 | 2 32| s
10|15 |2 %0 | 4 56 6 1 -
11,408 5 1 34 2 702
2,974
T w1 2 -
2 |31 | 1 12
5-1 |40 | 2 81| 2 4,204
5-2| 34 | 2 36 4,204
7ot s w8 | 2 4,868
8 |30 | 1 144 30
9 [25 | 2 872 56 6 1 -
13,969 10|22 |1 172
6 |35 | 1 813
6,751
30
11 |18 | 3 1,479 | 12 56 6 1 -
7 |35 | 2 786 4,612
5,299 2,600
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